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FCCAnalyses: FCC-ee Simulation (Delphes)

FI| I| I| I| I| I| I| I| I| I| I| I| I| I| I| I| I| I| I| I| I| I| I| I| I| I

Vs = 240 GeV, L=10.8 ab™
e'e - ZH,Z - vv,H - 11,

E iss>100 GeV, BDT score>0.5
Z(qa)H(t1) CJww [z - QQ
zZ [ ee -
= Z(I)H(tT ]
(A [ Jee - 11 Ce'e - vy, Z
— Z(W)H(tT) [ Jey - ez(lly vy -~ |l

[ Z(tt)H(t7) B Z(t1)H(QQ)
[ Z(t1)H(g9) B Z(tr)H(VV)
B Z(wW)HQQ) [ ]Z(vwW)H(VV)
[ Z(INH(QQ) 1 2Z(H(gg)

[ 1Z(DH(VV) [ 1Z(qag)H(VV)

)

10 20 30 40 50 60 70 80 90 100
.[Ieadp[GeV:I



	Contents
	Page 1


